TF50:mV T IR

Seed 1R 2R L = :
1 1 ootes MR FERR (BYATZALE T s sk
2 BYE ( — INR
N e 60 60
3 Lo0056%6 FII FEF (WEHA—TUT=RI5T )— = FET
4 Looog3dl LEE  EBF (I —KT7Yt — o 020 ING =
" ] 60 60
5 Looosot3 SEFH  FEAK  (JUstap ) %H ETHR
6 BYE ( — PR BT
76(2) 75
7 BYE ( ) BE BT
8 Looosdot FEF FEF  (HEEFLTC )— INR =R
9 3~4 L0002877 iTF HEF (BRI —0T=ZRIZT )— TR 2% o
10 BYE ( — IR R2F
62 61
11 BYE ( ) Kk R
12 L0003406 FLE& R (F—Lo4>T4—)LF )— TR iEF
) B L 60 63
_ = R -
13 Looostes {85 EREF (ATER—2T=RY357 ) BE 28T
14 BYE ( — K BAE
62 63
15 BYE ( T km sns
16 Looos221 K BEME (FarEI73V—T=R977 )- ) INR ER
7]
. 60 60
17 Loooses2 ;{7K  FWH (FERSSC ) EK FDH
18 BYE ( — B £
75 63
19 BYE ( ) B £%
20 L0008916 =7  3ESE (MEREHFT=RA—TFTY )— WL BT
[=] T
21 Looosess BEY #IF  (HERR—YTLITT )— BH T oo
22 BYE ( — W BT
63 36 10-6
2 BYE ( T s sz
24 3~4 woo00480 fAIER  HF (RET=RIST )— EK BHZE
=
R 60 62
0 1)—> _—
25 Looo7428 IUF  XEF (HEERITV—2 ) WTF £5F
26 BYE ( ) ‘ WF £57F
61 60
27 BYE ( ) A B2
28 Lo009501 AFF fRE  (BBARBENET-RI5T )— BA BE
o . 36 60 10-6
L ) = —
29 Looososs TR FY  (YURETTZRITT ) Bt FET
. . . 63 64
30 Looo94ss F| £ FEF (HBEET=RIST )— =K B
63 60
31 BYE ( ) HA BE
82 2 ooosse0 HR BIE  (BERR—YTLH5T ) —



